Plot Diagram











Name:_____________________


Stapleton brags about knowing the moor so well, but gets lost in the fog and drowns in a bog.





Baker St. London – at Holmes’ flat – drawing conclusions about Mr. Mortimer and then learning of the curse


Dartmoor – Baskerville Hall – the moor 





Went back to London & reviewed the case.
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Located remnants of “dog house”





Decided Stapleton got lost in fog & drowned in bog





Meet Beryl in morning & hunt for Mr. Stapleton & find Henry’s missing boot.
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Took Henry back to Baskerville hall & explain that the woman he loves (Beryl) is married.





They find Beryl (Mrs. Stapleton) tied up in the house.











After Sherlock Holmes hunted down the cab driver in London and asked about the man with the beard, the driver told him the man’s name was Sherlock Holmes.





Sherlock Holmes was hiding in the moor causing Watson to think he was someone of interest making trouble.





            Irony


What is ironic about this story?





Holmes uses Sir Henry as bait as he walks home from supper at the Stapletons’. Holmes & Watson kill the hound and Stapelton flees the scene.
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Characters


 Protagonist(s):Sherlock Holmes & Dr. Watson (foil)





Antagonist(s)   Stapleton         
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Setting:
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Conflict: Protecting Sir Henry Baskerville 








Resolution: Dog is killed and Stapleton drowns in the bog. Henry is safe and so is Beryl (Mrs. Stapleton). The case is solved.








Theme: TRUST in logic to overcome super natural legends and myths.


ALWAYS be observant as clues and signs can point you towards the truth.


COOPERATION and trust in friends can help to overcome obstacles. 
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